






SSC GD 2021 Exam Analysis: Check difficulty level & 
number of good attempts 

Name of the section Difficulty level
Number of good 

attempts

General Intelligence and 
Reasoning

Easy to Moderate 20 to 22

General Knowledge and 
General Awareness

Easy to Moderate 18 to 20

Elementary Mathematics Moderate 16 to 18

English/ Hindi Easy to Moderate 21 to 23



Topic No of Questions Asked in SSC GD Constable Exam

Coding-Decoding 2

Statement Conclusion –

Missing Term 2

Venn Diagram 1

Syllogism 2

Paper Folding 1

Blood relation & order and ranking 2

Mathematics Operation 1

Analogy & Classification 6

Series 4

Dice & Sequence 2

Puzzle ( Linear Sitting Arrangement) 2

Mirror Image 1

Hidden Figure 1

Complete Figure & Figure Counting 2

Total 25







Find the option which should replace (?)

A. 5
B. 4
C. 0
D. 3

3 8 10 2 ? 1

6 56 90 2 20 0



Find the option which should replace (?)

Muslims : Mosque :: Sikhs : ?

(A) Golden Temple

(B) Fire Temple

(C) Gurudwara  
(D) Madina



Find the option which should replace (?)

5+6 : 16 :: 6+6 : ?

(A) 30

(B) 27

(C) 45

(D) 50



Find the option which should replace (?)

25 : 64 :: 35 : ?

(A) 64

(B) 81  

(C) 72

(D) 100



Find the option which should replace (?)

Sorrow : Death :: Happiness : ?

(A) Dance

(B) Charity 

(C) Birth  
(D) Kill



Find the option which should replace (?)

HEED : 02 :: PACIFY : ?

(A) 24  

(B) 40 

(C) 31
(D) 55



Find the option which should replace (?)

P : 13 :: N : ?

(A) 12

(B) 13

(C) 15
(D) 16



Find the option which should replace (?)

ANT = 11420

YELLOW = ?

(A) 25612121523

(B) 25513131523

(C) 51212152325

(D) 51212623242



Find the option which should replace (?)
(A) 189

(B) 35

(C) 36
(D) 63  

30 5 15

18 9 81

27 7 ?



Find odd word from the given alternative.
दिए गए दिकल्पमें से दिषम शब्द ज्ञात कीदिए |

(A) 40
(B) 36 

(C) 12

(D) 44



In a certain code 

‘ 2 5 3’ means ‘man are good’

‘5 4 6’ means ‘woman was good’

‘3 7 8’ means ‘walking old man’ 

Q- What stands for ‘Was’ is that code ?

(A) 8

(B) 4 

(C) 6

(D) 4 or 6



Which of the following diagrams indicates the best relation between Sun, 
Moon and Earth (सूर्य, चंद्रमाऔर पृथ्वी)?

A. B .C .D.



Find the option which should replace (?)

Stable : Horse :: Sty : ? 
स्थिर: घोडा :: शूकरशाला:?

A. Cow / गार्
B. Buffalo /भेंस
C. Pig /सूअर
D. Fly /मक्खी



From the given alternative words, select the word which can be formed using the 
letters of the give word :
दिए गए वैकस्िकशब्ों से, उसशब्का चर्नकरें दिसे शब् केअक्षरो ंका उपर्ोग करके

बनार्ा िा सकता है:

REPLENISHABLE

(1) LIME
(2) REACH
(3) SHINE
(4) PAPER



Find the option which should replace (?)

JP : 80 :: PQ : ?

(A) 98 

(B) 136

(C) 248
(D) 150



Find the option which should replace (?)

81  : 49  ::  64 : ?

(A) 16  

(B) 04

(C) 49
(D) 25



Find the option which should replace (?)

338 : 392 :: 450 : ?

(A) 578  

(B) 512

(C) 600
(D) 810



Find the option which should replace (?)

Meat : vegetarian :: Liquor : ? 
मांस: शाकाहारी :: शराब:?

A. Insane /पागल
B. Tectotaller / मद्यत्यागी
C. Introvert /अंतममयखी
D. Alcoholic /मािक


